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(2x+2)-3 :
2nd integral =f"?‘h“*'d-"
Xe4+2x+3
2x+2 .
=,f 7..1 + 2 ok 3f ’(J,\ 3
<" +2x+3 (x+1)" +(/2)?

N

)

]
V2 J2

s 3 =y
!=x—-!0g(.\"+2.\'+3)+~f~tan 1[‘ IJ

V2 V2

3 -1
=10g(.\'2 SN e l{ ;

. Ll (x) :
Note. In order to evaluate integrals of the type J-f'—.,i-—-—li,\', (of

: ' ) ax” +bx+¢ y

which the above is a particular case), where f (x) is a rational function

of x of second or of higher degree, divide the numerator by the

denominator till the numerator i« of the first cegree: then the integral
. - ne

reduces to the sumof integrals of the type _I'Am.\: dx(m>or=0) and

of the type

———dx

¢ PX+ G
feis
ax + by +¢

2.10 Miscellancous Workedout Examples
Integrare the _/'ol[(;wing ;

d.
Ex. 1. j —__, [C. P 1982 ]
(L" +(’ - ).—

'7 -
dx e~ dx

(e +e™)? J (2 )2

Solution : j

2v 2f na2x o 1
[We put e +1=u= 26"y = du = e*dy = — dgy |
2

(—1)4-(":" l_ -+
2\ u 2(e2* +1)

Ex. 2. f a3 [ C E 1981
Vi—e™



Ex. 3.

. Solution :
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J \/T dx
Ex. 4.

x(x+1)°

dx
olution : = =2|dz=2z+C
Solution I ,x-H) \/x(.t+ l) J
e e/ i
=1 ! 1 1 dx
[Weput tan™' Jx =72 — dx=dz 2dz ]
+tx 2.fx x(l+ x)

G
10x” +10° Ioge,lO =
1O rri®

Ex. 5.
Solution : Let, 10™ +x'% = 7 = (10x° +10* log,, 10)dx = dz

lO‘c +10% - Iog 10
=de=[Etog)z |+
10* + x10

= logl (IO‘lr + xm) i +C.

; oI :
Ex. 6. J'A el clvh | C. P 1998 )
D s s
Solution : Jx" et dy = %Ju’d! = ;-e’ +¢ =—1(:"* +C.
(We put B 3x’dy =dr= x%dy = %dt ]
Ex.7. [tan?3xdx. [P 1992

Nolution @ J-tan3 33 ia
2 2 [t 2
= jtan 3x-tandvdy = ftan3 v(sec” 3x—1i) dy
= [tan3x-sec? 3x dy - f @an 3x dx

1 Sin 3x
RN o
3 COS3¢

[We put tan 3y = 7 =5 Jsec? 3xdx = 47 |
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